
uizzes #3 & 4. Term L72

1. [7 pointsl Find the local maximum and minimum values and saddle
points of f (x,y) = y3 + 3x'y - 6x2 - 6y2 + 2.
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2. [5 points] Find the extreme values "iHS = 2x * 2y * zon the
sphere x2 + yz * z2 = 9.
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3. [4 points] Let R - [0,4] x 10,2). Estimate the double integral

lJ* tn(x + 2y) dA using double Riemann sums with m -- 2 and n =
2 and taking as sample points the center of each sub-rectangle.
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Math201.02, Quizzes #3 & 4. Term 172

Name:

lD #:. Serial#:

1. [6 points] Find the local maximum and minimum values and saddle
points of f (x,!) = 2xz + yn + 4xy - L.
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2. [6 points] Use Lagrange Multipliers to find the extreme values of

f (x,y) = y2 - x2 + x on the ellipse x2 + 4y2 = 4.
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3. [4 points] Find the average value of /(x ,y) - +over the region' ,,lt+x+y
P=[0,2] x[0,1].
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Math201.04, Quizzes #3 & 4, Term 172

Serial#:

1. [6 points] Find the local maximum and minimum values and saddle
points of f (x,y) -- x3 - LZxy * 8y3.
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2. [5 points] Find the extreme values of fJx;f) = x * 2y I z subject to

the constraints x2 | y2 - B and ! I z = 2.
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3. [4 points] Set up an integral
the graph of z - x2 + 2y2
the curves ! = x2 andy =
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